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Camada CC PMP ρs Argila Silte Areia
(m) ----------- (cm3 cm-3) ----------- (kg dm-3) ------------------  (g kg-1) ------------------

0,00-0,20 0,4148 0,3472 1,49 624,0 172,0 204,0
0,20-0,40 0,4193 0,3491 1,46 694,3 138,3 167,4
0,40-0,60 0,4500 0,3808 1,43 688,9 136,4 174,8
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Camada pH MO P K Ca Mg H+Al T V
(m) (CaCl2) (g dm-3) (mg dm-3) ----------- (mmolc dm-3) ----------- -------- (%)---------

0,00-0,20 5,20 14 4 1,50 33 13 28 75,50 63
0,20-0,40 5,00 17 4 1,60 28 12 31 72,60 57
0,40-0,60 5,30 9 6 0,50 32 6 22 60,50 64
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Meses T UR P ETo(1)

(oC) (%) (mm) (mm dia-1)
Maio 18,30 79 51,30 2,06
Junho 17,50 83 68,60 1,76
Julho 19,20 77 2,70 2,11
Agosto 19,10 64 0,00 2,87
Setembro 21,40 70 85,90 3,82
Outubro 21,90 73 28,50 4,43
Novembro 22,60 72 52,10 4,01
Dezembro 24,80 78 269,90 4,77
Janeiro 24,70 83 235,90 3,77
Fevereiro 24,60 87 195,00 3,62
Março 24,10 84 170,00 3,20
Abril 21,90 72 0,00 2,91
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Períodos N K
(dias) (%) (%)

130-160 5,0 4,5
160-190 5,7 4,8
190-220 6,0 5,7
220-250 7,3 6,3
250-280 10,0 10,2
280-310 17,0 17,5
310-340 22,0 23,0
340-370 27,0 28,0
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PC = 14197 + 2,3118W

R2 = 0,8162*
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) K0 = 0 kg planta-1 ano-1 de K2O

PC = 10381 + 15,656W – 0,0041W2

R2 = 0,9782*
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) K1 = 0,225 kg planta-1 ano-1 de K2O

PC = -24943 + 70,078W - 0,0192W2

R2 = 0,9727**
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K2 = 0,450 kg planta-1 ano-1 de K2O

PC = -21508 +  66,894W - 0,0179W2

R2 = 0,7627**
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K3 = 0,675 kg planta-1 ano-1 de K2O

PC = 22003 + 13,551W - 0,0042W2

R2 = 0,6556*
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K4 = 0,900 kg planta-1 ano-1 de K2O
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PC = 17019 + 15316K

R2 = 0,9757**
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PC = 16155 + 65726K - 54581K2

R2 = 0,877**
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L2 = 1.528,20 L planta-1 ano-1

PC = 16039 + 70027K - 52872K2

R2 = 0,8689*
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L3 = 2.117,28 L planta-1 ano-1

Doses de potássio (kg planta-1 ano-1 de K2O)

PC = 21120 + 7362,5K

R2 = 0,9893*
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L4 = 2.706,36 L planta-1 ano-1
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